MHC* series

COMPACT HYDRAULIC CYLINDERS mindman

Features:

® Compact body design keeps overall length to a minimum.

® Cylinder barrel internally honed to ensure smooth and consistent
piston movement.

@ High quality materials are used throughout construction.

Specification:
Model MHC*
Tube 1.D. (mm) 20 25 32 40 50 63 80
The range of stroke (mm) | 30 30 60 80 90 100
Medium Filtered oil
MHCB Front mounting :%:D Material Carbon steel
e el Operating pressure range 14MPa (140kgf/cm?)
MHCB..D (Double end rod type) :%E: Ambient temperature -10~+60°C (No freezing)

MHCQ Side mounting :=]
Side mounting
MHCQ..D (Double end rod type) :%E:

MHCB..A/B Adjustablg foward

stroke cylinder

MHCQ..A/B Adjustabl(_a foward

stroke cylinder

Order example:

MHCB — 50 — 30

i : §
R

ADJUSTABLE
STROKE
Blank: Standard

A: Adjustable 25mm
B: Adjustable 50mm

TUBE I.LD. STROKE ROD END TYPE END ROD TYPE

Q

Blank:Female thread D : Double end rod type

Z:Male thread

R, L : One male and
one female thread.



| MHC* Standard stroke

mindman

COMPACT HYDRAULIC CYLINDERS

@ Standard products (O Made to order

Standard stroke

100

100

90

90

80

80

70

70

60

60

50

50

45

45

40

40

35

35

30

30

25

25

20

20

15

15

10

10

Stroke

Tube I.D.

Stroke

¢ 20
Tube I.D”

¢ 25
¢ 32
¢ 40
¢ 50
¢ 63
¢ 80
¢ 32
¢ 40
¢ 50
¢ 63
¢ 80
¢ 32
¢ 40
¢ 50
¢ 63
¢ 80

Model

MHCB

MHCB-Z
MHCB-D
MHCB-ZD
MHCB-LD
MHCB-A
MHCB-ZA
MHCB-B
MHCB-ZB

Model

¢ 32
¢ 40
¢ 50
¢ 63
¢ 32
¢ 40
¢ 50
¢ 63
¢ 32
¢ 40
¢ 50
¢ 63

MHCQ

MHCQ-Z
MHCQ-D
MHCQ-ZD
MHCQ-RD
MHCQ-LD
MHCQ-A
MHCQ-ZA
MHCQ-B
MHCQ-ZB




MHC* Inside structure and parts list ¢ 20~¢ 80

COMPACT HYDRAULIC CYLINDERS mindman

How to order the seal kit

MHC[]SK MHC[ISK D
o= i

] Ttbe Seal kit a Tibe Seal kit
32 | MHCB32,MHCQ32 - Including No.6,7,8,9,10 32 | MHCB32D,MHCQ32D - Including No.6,7,8,9,10
40 [ MHCB40,MHCQ40 - Including No.6,7,8,9,10 40 [ MHCB40D,MHCQ40D - Including No.6,7,8,9,10
50 | MHCB50,MHCQ50 - Including No.6,7,8,9,10 50 | MHCB50D,MHCQ50D - Including No.6,7,8,9,10
63 | MHCB63,MHCQ63 - Including No.6,7,8,9,10 63 | MHCB63D,MHCQ63D - Including No.6,7,8,9,10
80 MHCB80 - Including No.6,7,8,9,10 80 | MHCB80D - Including No.6,7,8,9,10

:E

\,B— |

o

Parts list
No. Part name Quantity| No. Part name Quantity] No. Part name Quantity
1 Rod cover 1 5 Set screw 1 9 Rod packing 1
2 Cylinder tube 1 6 Piston packing 1 10 Cylinder gasket 1
3 Piston 1 7 Piston gasket 1 11
4 Piston rod 1 8 Dust wiper 1 12

MHCB-D)

D gasgero ozaoos
i\

V. =l
]ﬁx fffff m ﬁl

Parts list
No. Part name Quantity| No. Part name Quantity| No. Part name Quantity
1 Rod cover 2 5 Set screw 2 9 Rod packing 2
2 Cylinder tube 1 6 Piston packing 1 10 Cylinder gasket 2
3 Piston 1 7 Piston gasket 2 11
4 Piston rod 1 8 Dust wiper 2 12




MHC* Inside structure and parts list ¢ 20~¢ 80

COMPACT HYDRAULIC CYLINDERS mindman

How to order the seal kit

MHC;SK|;| D

Tube

Seal kit
Q|

32 | MHCBSK32D,MHCQSK32D - Including No.6,7,8,9,10
40 | MHCBSK40D,MHCQSK40D - Including No.6,7,8,9,10
50 | MHCBSK50D,MHCQSK50D - Including No.6,7,8,9,10
63 | MHCBSK63D,MHCQSK63D - Including No.6,7,8,9,10
80 | MHCBSK80D - Including No.6,7,8,9,10

MHCB-A) (MHCB-B)

NN @@@?éi;%

MHCQ-A) MHCQ-B)

NN @@@?éi;%

1= T %

<

KK
LKL
LIKKKKL

o

St dedeteels!

35
RS
3K
35S
XS
XS

%
K2

KKK

<

00 0090900:9.9

<P

<2
<P

Q
<
%

Parts list
No. Part name Quantity] No. Part name Quantity] No. Part name Quantity
1 Rod cover 2 5 Set screw 2 9 Rod packing 2
2 Cylinder tube 1 6 Piston packing 1 10 Cylinder gasket 2
3 Piston 1 7 Piston gasket 2 11
4 Piston rod 1 8 Dust wiper 2 12




MHC* Cylinder weight ¢20~¢80

COMPACT HYDRAULIC CYLINDERS mindman

Cylinder weight (Including the mounting nut) Unit: kg

el 420 625 32 640 50 $63 80

wose | MHCB | MHCB | MHCB | MHCQ | MHCB | MHCQ | MHCB | MHCQ | MHCB | MHCQ | MHCB

sod\ N| Z | N|J]Z | N[ zZ|NJzZ|[NJz|NJzZ|[NJz|[NJZ|[NJZ|[NJZ|[N]Z

5 |0.64|0.69|0.88|0.93|1.61|1.71|1.72| 1.82] 2.00| 2.20 | 2.21]| 2.41| 2.78 | 3.03 | 3.27 | 3.52| 4.24 | 4.69 | 5.28] 5.73 7.46| 8.31
10 | 0.63|0.68]0.87 | 0.92|1.73|1.83 | 1.71] 1.81| 2.15 | 2.35 | 2.19| 2.39| 2.96 | 3.21 | 3.24 | 3.49 | 4.48 | 4.93 | 5.22| 5.67| 7.80| 8.65
15 |0.75]0.80] 1.02|1.07 | 1.85] 1.95] 1.98| 2.08 | 2.30 | 2.50| 2.55 | 2.75 | 3.14 | 3.39| 3.71| 3.96 | 4.72| 5.17| 5.90] 6.35] 8.14] 8.99
20 |0.74]0.79]1.01]1.06 [ 1.97 | 2.07 [ 1.97 | 2.07| 2.45 | 2.65]| 2.53 [ 2.73| 3.32| 3.57 | 3.68] 3.93 | 4.96 | 5.41| 5.84] 6.29] 8.48 9.33
25 10.86]0.91[1.16] 1.21]2.09|2.19|2.24 [ 2.34 ] 2.60 | 2.80| 2.89 | 3.09| 3.50| 3.75 | 4.15 | 4.40 | 5.20 | 5.65 | 6.52] 6.97] 8.82 9.67
30 |0.85]0.90|1.15]1.20 [ 2.21 | 2.31] 2.23| 2.33] 2.75 | 2.95]| 2.87 [ 3.07 | 3.68| 3.93 [ 4.12| 4.37 | 5.44 | 5.89 | 6.46] 6.91] 9.1610.01
35 |0.97[1.02]1.30] 1.35] 2.46 | 2.56 | 2.50 | 2.60 [ 3.07 | 3.27 | 3.23 | 3.43| 4.07 | 4.32 | 4.59 | 4.84 | 5.98 | 6.43 ]| 7.14] 7.59 9.93[10.78
40 [0.961.01]1.29/1.34]2.45]2.55] 2.49]2.59|3.05]3.25|3.21]3.41]4.04 | 4.29] 4.56 | 4.81] 5.92]6.37 | 7.08] 7.53] 9.84[10.69

45| — | — [1.44[149|2.70]2.80|2.76|2.86|3.37 | 3.57|3.57 | 3.77 | 4.43|4.68 | 5.03| 5.28 | 6.46 | 6.91| 7.76| 8.21/10.61|11.46
50 | — | — |1.43]1.48[2.69|2.79|2.75|2.85|3.35|3.55|3.55|3.75|4.40 | 4.65|5.00 | 5.25|6.40 | 6.85| 7.70] 8.15/10.52/11.37
60| — | — | — | — [293|3.03/3.01]3.11]3.65/3.85/3.89[4.09|4.76|5.01|5.44|5.69|6.88|7.33| 8.32] 8.77/11.20[12.05
70| —| — | — | — [|817|3.27|3.27|3.37|3.95|/4.15/4.23|4.43|5.12|5.37 | 5.88 | 6.13| 7.36 | 7.81 | 8.94| 9.39/11.88/12.73
80| — | — | — | — [341/3.51|3.53]3.63[4.25|/4.45|4.57|4.77|5.48|5.73|6.32|6.57|7.84|8.29 | 9.56/10.01/12.56(13.41
N | —| —| — | — [|865/3.75|3.79|3.89|4.55|4.75|/4.91|5.11|5.84(6.09|6.76 | 7.01|8.32 | 8.77 |10.18|10.63|13.24/14.09
100 — | — | — | — [3.89/3.99/4.05/4.15]/4.85|5.05|5.25|5.45|6.20|6.45|7.20|7.45|8.80|9.25[10.80[11.25/13.92/14.77
%N (Female thread); Z (Male thread)

Unit: kg
o ¢ 32 640 50 $63 ¢80

modl| MHCB_D | MHCQD | MHCB.D | MHCQD | MHCB.D | MHCQD | MHCB.D | MHCQD | MHCB_D
stk N|] Z[ L[ NJZJLRIN]JZ]JL|NJZJLRINJZJL|NJZJLR[N]JZ]L[N]ZJLR[N]ZT]L
5 [1.89]2.06(1.97[1.90(2.07[1.99]2.37]2.71]2.54] 2.45[2.79 ] 2.62|3.22| 3.65| 3.44 | 3.63] 4.05[ 3.84] 4.85 | 5.61]5.23] 559 6.35 | 5.98 [10.18]11.63]10.90
10 [1.89]2.06]1.97] 1.90[2.07[1.99[2.37[2.71| 2.54 | 2.45| 2.79 | 2.62] 3.22[ 3.65] 3.43 [ 3.62[4.05] 3.84 [ 4.83| 5.59| 5.21] 5.58 | 6.34] 5.96 [10.15[11.60[10.88
15 [ 2.112.28]2.20] 2.14[ 2.31]2.23[ 266 3.00| 2.83 | 2.77| 3.1 2.94] 3.58 | 4.00[ 3.79 [ 4.05 [ 4.47] 4.26 | 5.32 | 6.08 | 5.70] 6.18 6.95] 6.57 [10.87]12.31]11.59
20 [2.11]2.28]2.20]2.14] 2.31]2.23] 2.66| 3.00] 2.83[ 2.77] 3.11] 2.94 ] 357 ] 4.00[3.79] 4.04 | 4.47] 4.26| 5.30] 6.07 | 5.68 ] 6.17 | 6.93 | 6.55 |10.84]12.28]11.58
25 [2.34]2.51(2.42]238] 255247 2.94|3.28] 3.113.09]3.43] 3.26[ 3.93 [ 4.36 [ 4.14 | 4.47| 4.90 | 4.68 | 5.79] 6.56 | 6.17 | 6.78 | 7.54 | 7.16 |11.55[12.99]12.27
30 [2.34]251]242]2.39]2.56|2.47]2.95]3.29]3.12[3.10[3.44[3.27]3.93] 4.35[4.14 | 4.47] 4.89] 4.68 | 5.77 [ 6.54 | 6.15] 6.76 | 7.52| 7.14 |11.52[12.9712.25
35 |256]2.73]2.65]2.63]2.80|2.71]3.23]3.57[3.40[3.42[3.76 [ 3.59| 4.28| 4.71]4.50 | 4.89] 5.32[ 5.10] 6.26 [ 7.03 | 6.64| 7.37 [ 8.13| 7.75 [12.23/13.68]12.96
40 [256]2.73]2.65]2.63]2.80[2.71]3.23]3.57 3.403.42] 3.76 [ 3.59| 4.28 | 4.71 [ 4.49] 4.89| 5.31 5,10 6.24] 7.01] 6.63 | 7.35] 8.11 [ 7.73 [12.21]13.65/12.93
45 [2.79]2.96]2.87]2.87]3.04]2.95]3.52|3.86] 3.693.74] 4.08] 3.91 ] 4.64 | 5.06 | 4.85|5.31| 5.74| 5.52|6.73] 7.50] 7.12| 7.96 | 8.72 [ 8.34 [12.92]14.35/13.64
50 |2.79]2.96|2.87|2.87|3.04|2.96|3.52|3.86|3.69|3.74]4.08| 3.91|4.63|5.06 | 4.85|5.31|5.73| 5.52| 6.72| 7.48 | 7.10| 7.94 | 8.71| 8.32 [12.8914.3413.61

60 |3.01{3.18|3.10] — | — | — |3.81[4.15{398| — | — | — [4.99|541]520| — | — | — [7.19]7.95|757| — | — | — [13.58]15.02/14.30
70 [324]341(332| — | — | — [4.10(4.44|427| — | — | — |5.34|5.76]|555| — | — | — [7.66|8.43|8.04| — | — | — |14.26/15.70{14.98
80 |3.46(3.63|3.55| — | — | — |4.39(4.73|456| — | — | — |569]6.12|591| — | — | — [8.13|8.90|8.52| — | — | — [14.94]16.39/15.67
90 [3.69(3.86(3.77| — | — | — |4.67|5.01|484| — | — | — |6.05|647]6.26] — | — | — [8.61]9.37|8.99| — | — | — |15.63/17.07|16.35
100/3.9114.08/4.00] — | — | — |4.96/5.30{513| — | — | — |6.40(6.82]6.61] — | — | — [9.08]/9.84|946] — | — | — [16.31]17.76[17.03

%N (Bilateral Female thread); Z (Bilateral Male thread); L,R (Unilateral Female thread)

Mounting weight Unit: kg
Adjustable Nut Nut (Rod)
Tube
1.D. A B -
(mm) | Adjustable Stroke | Adjustable Stroke
25mm 50mm

¢ 32 0.6 0.9 0.02
¢ 40 1.0 1.45 0.04
¢ 50 1.15 1.7 0.08
¢ 63 2.15 & 0.08
¢ 80 3.4 4.2 0.18




MHCB Dimensions ¢ 20~ ¢ 80 M

COMPACT HYDRAULIC CYLINDERS mindman
CMHCB ) MHCB-D)
2-PT :-l\j:ktlh(;:pth (Both side) 2-PT

JXJ1 depth

©) ———A]

R
)
A
f
A
N

e a © &)’ © o % Qe i © a
D ‘ : R ‘
Q | | il O™ |
o) @D ! 3
,,,,,,,, | 7 /) | L
X| P Y cL | sw | cL Y | PP | ¥ cL
B C OF C BB [
A OE AL

CS=C+stroke

MHCB-Z MHCB-ZD)

4-p K thru
2-PT ¢ Mx H depth (Both side) 2-PT
KY KY KY
‘,%L « (O O « [ o Kx
A ~ —~ | j -
i J nﬁmn a e, ol QD & T a
e N = A RN ° “od -
k —J/ ] —/ N —/ | Q}’ | —/
] A T D ] f
| ] 7/ NS [ —— |
X P Y CL | SW | CL Y PP Y CL
B C | OL OF OL | C BB CS OL
A OE AL
CS=C+stroke
4- ¢ K thru
¢ M x H depth (Both side) 2-PT JXJ1 depth
KY
7 N o — 7 o~
4. 1g 3 > — a| o fo i @ “I kCD @ [a) Q/CD O
5F. 0 i
) ) A T @)
A N | L 2
LSlV_J CL Y PP Y CL | SW |
OF oL | C BB CS
UE AL CS=C+stroke




MHCB Dimensions ¢ 20~ ¢ 80

COMPACT HYDRAULIC CYLINDERS mindman
Model MHCB / MHCB-Z
Tube 1.D.
Stroke 5 10 15 20 25 30 35 40 45 50 60 70 80 90 100
A 61 61 71 71 81 81 - - - - - - - - -
¢ 20 B 53 53 63 63 73 73 - - - - - - - - -
P 20 20 30 30 40 40 - - - - - - - - -
A 63 63 73 73 83 83 - - - - - - - - -
¢ 25 B 55 55 65 65 75 75 - - - - - - - - -
P 22 22 32 32 42 42 - - - - - - - - -
A 69 74 79 84 89 94 104 104 114 114 124 - - - -
¢ 32 B 59 64 69 74 79 84 94 94 104 104 114 - - - -
P 19 24 29 34 39 44 54 54 64 64 74 - - - -
A 70 75 80 85 90 95 105 105 115 115 125 135 145 - -
¢ 40 B 60 65 70 75 80 85 95 95 105 105 115 125 135 - -
P 20 25 30 35 40 45 55 55 65 65 75 85 95 - -
A 76 81 86 91 96 101 111 111 121 121 131 141 151 161 -
¢ 50 B 65 70 75 80 85 90 100 100 110 110 120 130 140 150 -
P 23 28 33 38 43 48 58 58 68 68 78 88 98 108 -
A 85 90 95 100 105 110 120 120 130 130 140 150 160 170 180
¢ 63 B 72 77 82 87 92 97 107 107 117 17 127 137 147 157 167
P 25 30 35 40 45 50 60 60 70 70 80 90 100 110 120
A 100 105 110 115 120 125 135 135 145 145 155 165 175 185 195
¢ 80 B 83 88 93 98 103 108 118 118 128 128 138 148 158 168 178
P 32 37 42 47 52 57 67 67 77 77 87 97 107 117 127
s D Model MHCB-D / MHCB-ZD / MHCB-LD
Stroke 5 10 15 20 25 30 35 40 45 50 60 70 80 90 100
AL 104 109 124 129 144 149 164 169 184 189 209 - - - -
632 BB 79 79 89 89 99 99 109 109 119 119 129 - - - -
CS 15 20 25 30 35 40 45 50 55 60 70 - - - -
PP 23 23 33 33 43 43 53 53] 63 63 73 - - - -
AL 105 110 125 130 145 150 165 170 185 190 210 230 250 - -
640 BB 80 80 90 90 100 100 110 110 120 120 130 140 150 - -
CS 15 20 25 30 35 40 45 50 55 60 70 80 90 - -
PP 24 24 34 34 44 44 54 54 64 64 74 84 94 - -
AL 112 117 132 137 152 157 172 177 192 197 217 237 257 277 -
650 BB 85 85 95 95 105 105 115 115 125 125 135 145 155 165 -
CS 16 21 26 31 36 41 46 51 56 61 71 81 91 101 -
PP 26 26 36 36 46 46 56 56 66 66 76 86 96 106 -
AL 123 128 143 148 163 168 183 188 203 208 228 248 268 288 308
663 BB 92 92 102 102 112 112 122 122 132 132 142 152 162 172 182
CS 18 23 28 33 38 43 48 53 58 63 73 83 93 103 113
PP 30 30 40 40 50 50 60 60 70 70 80 90 100 110 120
AL 142 147 162 167 182 187 202 207 222 227 247 267 287 307 327
$80 BB 103 103 113 113 123 123 133 133 143 143 153 163 173 183 193
CS 22 27 32 37 42 47 52 57 62 67 77 87 97 107 117
PP 37 37 47 47 57 57 67 67 77 77 87 97 107 117 127
\T:;%\ (o3 CL| D E F H J J1 K |KX|KY | M o oL PT R |SW| X Y
20| 8 6 | 12 42 | 30 55| M8x1.25 10 56| 17 6 9 | M10X1.25 | 20 | PT1/8 5( 10 (10 |23
25 8 6 | 14 48 | 36 55| M10X1.5 12 56| 19 7 9 | M12x1.25 | 22 | PT 1/8 5( 12 (10 |23
¢ 32| 10 7 | 20 62 | 47 6.5| M12x1.75 | 15 6.6 | 24 8| 11 M16 X 1.5 25 | PT1/4 | 10 | 17 |12 |28
¢ 40[ 10 7| 25 70 | 52 9 M16x 2.0 20 9 32 | 10 | 14 | M22X1.5 30 | PT1/4 | 10 | 22 |12 |28
¢ 50 11 8 | 30 80 | 58 |11 M20 x 2.5 25 (11 35 | 14 | 18 | M26X 1.5 35 [ PT1/4 | 10 | 27 |12.5]|29.5
63| 13 | 10 | 35 94| 69 |13 M27 X 3.0 35 [13 41 13 | 20 | M30X1.5 40 | PT3/8 | 10 | 32 |16 |31
¢80 17 | 14 | 45 | 114 | 86 |15 M30x 3.5 35 |15 50 | 10 | 22 | M39%X1.5 45 | PT3/8 | 15 | 41 |18 |33




MHCQ Dimensions ¢ 32~¢63

COMPACT HYDRAULIC CYLINDERS

(MHCQ)

FC , 20

2-PT I@)I Kj
©
x A \—h g <
o h | .
i\ )
|b| |L4
X | P Y
4- oK thru
dMxH depth JXJH depth
T T an :
o i o F%\m
2 N Oye
IT
= 3
£ ..
) KB. |KW| KA CL ELY
. c KL
A
.AHCQ-Z)
FC,_ FB _ 20
\ |
2.PT l\()/' Ky
@) ) @\TTH=“ 3 gl s
. h A ,_LL =u X w
\J
e )
[~ [~
X p Y KY
4- ¢ K thru
dMxH depth
O 1] (7 |
ol @ %ﬁm
> &
T N1
. L
) KB _|KW| KA cL S
B cloL KL
A

EA

CS=C+stroke

mindman
MHCQ-D
20, FF__ FG
| ! 2-PT
Ca)
o |
<| < Cle % Y & )
o @ 'ﬂ © j
) )
| N\ | | LJl
y | pp | v
4-$K thru
dMxH depth
L] L]
2 K BE
CleL ka lkw] ke |21 cL
c BB cs
AL

MHCQ-ZD)

20, FF | FG
! ! 2-PT
[Cge)
@;/
1 % EHE@ “‘ri'@ s
O 4
)
|LJ| |\J|
KY Y PP Y
4- ¢ K thru
dMXH depth
L] (]
3 o ol %
; —/ -/
CL KA KW KK o1 CL
oL |C BB CS OL
AL

CS=C+stroke



MHCQ Dimensions ¢ 32~¢63

COMPACT HYDRAULIC CYLINDERS mMindman
Model MHCQ / MHCQ-Z
Tube 1.D.
Stroke 5 10 15 20 25 30 35 40 45 50
A 74 74 84 84 94 94 104 104 114 14
B 64 64 74 74 84 84 94 94 104 104
$32 |_FB 34 34 44 44 54 54 64 64 74 74
KB 24 24 34 34 44 44 54 54 64 64
P 24 24 34 34 44 44 54 54 64 64
A 75 75 85 85 95 95 105 105 115 115
B 65 65 75 75 85 85 95 95 105 105
®40 |_FB 33 33 43 43 53 53 63 63 73 73
KB 25 25 35 35 45 45 55 55 65 65
P 25 25 35 35 45 45 55 55 65 65
A 81 81 91 91 101 101 1 111 121 121
B 70 70 80 80 90 90 100 100 110 110
®50 | FB 37 37 47 47 57 57 67 67 77 77
KB 27 27 37 37 47 47 57 57 67 67
P 28 28 38 38 48 48 58 58 68 68
A 90 90 100 100 110 110 120 120 130 130
B 77 77 87 87 97 97 107 107 17 17
®63 |_FB 42 42 52 52 62 62 72 72 82 82
KB 30 30 40 40 50 50 60 60 70 70
P 30 30 40 40 50 50 60 60 70 70
Model MHCQ-D / MHCQ-ZD
Tube I.D.
Stroke 5 10 15 20 25 30 35 40 45 50
AA 104 109 124 129 144 149 164 169 184 189
BB 79 79 89 89 99 99 109 109 19 119
632 |_CS 15 20 25 30 35 40 45 50 55 60
FF 42 42 52 52 62 62 72 72 82 82
KK 39 39 49 49 59 59 69 69 79 79
PP 23 23 33 33 43 43 53 53 63 63
AA 105 110 125 130 145 150 165 170 185 190
BB 80 80 90 90 100 100 110 110 120 120
640 |CS 15 20 25 30 35 40 45 50 55 60
FF 42 42 52 52 62 62 72 72 82 82
KK 40 40 50 50 60 60 70 70 80 80
PP 24 24 34 34 44 44 54 54 64 64
AA 112 17 132 137 152 157 172 177 192 197
BB 85 85 95 95 105 105 115 15 125 125
650 |CS 16 21 26 31 36 41 46 51 56 61
FF 45 45 55 55 65 65 75 75 85 85
KK 42 42 52 52 62 62 72 72 82 82
PP 26 26 36 36 46 46 56 56 66 66
AA 123 128 143 148 163 168 183 188 203 208
BB 92 92 102 102 112 112 122 122 132 132
663 |CS 18 23 28 33 38 43 48 53 58 63
FF 52 52 62 62 72 72 82 82 92 92
KK 45 45 55 55 65 65 75 75 85 85
PP 30 30 40 40 50 50 60 60 70 70
‘el ¢ e | o | ea | eB | Fa | Fc | F6 | H J JH | K | KA | KL
®32] 10 7 | 20 70 | 56 | 56 | 10 | 17 9 | M12x175 | 15 9 | 28 63
640 10 7 | 25 80 | 64 | 62 | 12 [ 18 | 11 M16x2.0 20 | 11 [ 28 70
$50 | 11 8 | 30 94 [ 74 | 74 | 13 [ 20 | 13 | M20x25 25 | 13 [ 29 80
$63] 13 | 10 | 35 | 114 | 89 | 90 | 15 | 20 | 15 | M27x3.0 3 | 15 | 31 | 100
Lo gy | kw | kx | kY [ LW | m 0 oL | PT | R | sW | U X Y
®32] 8 | 12 | 24 8 | 25 | 14 M16x 1.5 25 |[PT14] 10 | 17 | 45 | 12 | 28
640 8 | 12 [ 32 | 11 | 29 | 18 M22x 1.5 30 [PT14] 10 | 22 | 45 |12 | 28
$50| 9 | 14 | 35 | 14 | 34 | 20 M26x 1.5 35 |[PT14] 10 | 27 [ 5 125 | 295
$63] 10 | 16 | 41 13 | 42 | 22 M30x 1.5 40 [PT3/8] 10 | 32 | 55 | 16 | 31




MHCQ-*D Dimensions / Double end rod ¢32~¢63 M

COMPACT HYDRAULIC CYLINDERS mindman

MHCQ-RD) L

_FG
2-PT
o
/
s 5 He “V{}@ s
N od —F
A A
|kJ| |kJ|
Y PP Y KY
4- ¢ K thru
éMXH depth
JXJH depth
(1] D) L] (] (1] 1)
Catall o o L
Y © © Vk\j)\’
I - NG
T g L
|SW | cL KA _|KW| KK ol cL |SW |
KL C BB CS oL
AL
CS=C+stroke
MHCQ-LD)
20 FF FG
| ! 2-PT
O
o |
I o U P P |
(I ﬂ A
A A
|LJ| |LJ|
KY Y PP Y
4-¢p K thru
¢ MXH depth JxJH depth
(1] 0 (] (] (1] D)
o NP : (o)
k\a,}[’ - © o ©
N1 ;( -
— £ N
<SXV> CL KA |KW KK Dl CL <SXV>
KL OL | C BB CS
AL

CS=C+stroke



MHCQ-*D Dimensions / Double end rod ¢ 32~¢63

COMPACT HYDRAULIC CYLINDERS mindman
Model MHCQ-RD / MHCQ-LD
Tube 1.D.
Stroke 5 10 15 20 25 30 35 40 45 50
AA 104 109 124 129 144 149 164 169 184 189
BB 79 79 89 89 99 99 109 109 119 119
632 CS 15 20 25 30 35 40 45 50 55 60
FF 42 42 52 52 62 62 72 72 82 82
KK 39 39 49 49 59 59 69 69 79 79
PP 23 23 B3 83 43 43 9] 53 63 63
AA 105 110 125 130 145 150 165 170 185 190
BB 80 80 90 90 100 100 110 110 120 120
640 CS 15 20 25 30 35 40 45 50 55 60
FF 42 42 52 52 62 62 72 72 82 82
KK 40 40 50 50 60 60 70 70 80 80
PP 24 24 34 34 44 44 54 54 64 64
AA 112 117 132 137 152 157 172 177 192 197
BB 85 85 95 95 105 105 115 115 125 125
650 CS 16 21 26 31 36 41 46 51 56 61
FIF 45 45 55 59 65 65 75 75 85 85
KK 42 42 52 52 62 62 72 72 82 82
PP 26 26 36 36 46 46 56 56 66 66
AA 123 128 143 148 163 168 183 188 203 208
BB 92 92 102 102 112 112 122 122 132 132
663 CS 18 23 28 33 38 43 48 53 58 63
FF 52 52 62 62 72 72 82 82 92 92
KK 45 45 55 55 65 65 75 75 85 85
PP 30 30 40 40 50 50 60 60 70 70
\% C CL D EA EB FA FG H J JH K KA KL KT
¢ 32 10 7 20 70 56 56 17 9 M12X1.75 15 9 28 63 8
¢ 40 10 7 25 80 64 62 18 11 M16 X 2.0 20 11 28 70 8
¢ 50 1" 8 30 94 74 74 20 13 M20 X 2.5 25 13 29 80 9
¢ 63 13 10 35 114 89 90 20 15 M27 X 3.0 £9) 15 31 100 10
\% KW KX KY LH M (0] oL PT R sSw U Y
¢ 32 12 24 8 25 14 M16 X 1.5 25 PT 1/4 10 17 4.5 28
¢ 40 12 32 1 29 18 M22 X 1.5 30 PT 1/4 10 22 4.5 28
¢ 50 14 35 14 34 20 M26 X 1.5 35 PT 1/4 10 27 5 29.5
¢ 63 16 41 13 42 22 M30Xx 1.5 40 PT 3/8 10 32 515 31




MHCB Dimensions / Adjustable stroke ¢ 32~¢80

COMPACT HYDRAULIC CYLINDERS mindman
4-¢ K thru
M H c B - E } $MxH depth(Both side) 2-PT MA
JXJ1 depth MB
Adjustable stroke X 2N\
25 mm N N
(i :
R o i g =
= sy
S T D
S N L= |
| SW | cL Y PP Y stroke NA
oF C BB HA
OE ZA
MHCB Z_E > 4-¢K thru
¢ MXH depth(Both side) 2-PT MA
Adjustable stroke KY _ MB
25 mm © L O = |
p— - 7 1 M
N of oF fhifale. o S 5 I =
A : O~ 57 9 BiE
N1 - f
o T ) 1 ]
& ) e s e ]
<S_V\I> CL Y PP Y stroke NA
oF oL |c BB HA
OE ZA
M H CBj 4-¢pKthru
éMXH depth(Both side) 2-PT ME
Adjustable stroke JxJ1 depth MF
50 mm = ) T — ]
& & Cmnn g
p 0 —
Q/Q 5 o Ko @ j‘j 5 I =
F @ T hs
@ 71 ) | [
7/ N | L
<S_W> CL Y PP Y stroke NB
oF C BB HB
E zB
Adjustable stroke 4-¢ K thru
50 mm ¢ MxXH depth(Both side) 2-PT ME
KY MF
G} ) » —— ]
& & .
M) 1 M
AN of o fh soo i =
VK&J)V © : n ﬂ A4 ‘:} s
S= 1
S T T O ]
& ) e s ]
| SW | CL Y PP Y stroke NB
OF oL |c BB HB
OE zB




MHCB Dimensions / Adjustable stroke ¢ 32~¢80

COMPACT HYDRAULIC CYLINDERS mMindman
Tube 1o, Mo! MHCB-A / MHCB-Z-A
Stoke | 5 [ 10 [ 15 | 20 [ 25 [ 30 | 35 | 40 | 45 | 50 [ 60 | 70 [ 80 | 90 | 100
ZA | 153 | 158 | 173 | 178 | 193 | 198 | 213 | 218 | 233 | 238 | 258 | - - - -
032 | BB | 79[ 79| 89 | 89 | 99 | 99 [ 109 | 109 | 119 | M9 | 120 | - - - -
PP | 23 | 23| 33 | 33| 43 | 43 | 53 | 53 | 63 | 63 | 73 | - - - -
HA | 64 | 69 | 74 | 79 | 84 | 89 | 94 | 99 | 104 | 109 | 119 | - - - -
ZA | 163 | 168 | 183 | 188 | 203 | 208 | 223 | 228 | 243 | 248 | 268 | 288 | 308 | - -
440 | BB | 80 |80 [ 90 |90 [100 | 100 |10 | 410 [ 120 | 120 | 130 | 140 | 150 | - -
PP_| 24 | 24| 34 | 34| 44| 44 | 54 | 54 | 64 | 64 | 74 | 84 | 94 | - -
HA | 73 | 78 | 83 | 88 | 93 | 98 | 103 | 108 | 113 | 118 | 128 | 138 | 148 | - :
ZA_| 171 | 176 | 191 | 196 | 211 | 216 | 231 | 236 | 251 | 256 | 276 | 296 | 316 | 336 | -
450 | BB | 85 | 85 | 95 | 05 [ 105 | 105 | 115 | 115 | 125 | 125 | 135 | 145 | 155 | 165 | -
PP | 26 | 26 | 36 | 36 | 46 | 46 | 56 | 56 | 66 | 66 | 76 | 86 | 96 | 106 | -
HA | 75 | 80 | 85 | 00 | 95 | 100 | 105 | 110 | 115 | 120 | 130 | 140 | 150 | 160 | -
ZA | 188 | 193 | 208 | 213 | 228 | 233 | 248 | 253 | 268 | 273 | 293 | 313 | 333 | 353 | 373
63 | BB | 92 | 92 [102 |02 [ 112 | 12 | 122 | 122 [ 132 | 132 | 142 | 152 | 62 | 172 | 182
PP_| 30 | 30| 40 | 40 | 50 | 50 | 60 | 60 | 70 | 70 | 80 | 90 | 100 | 110 | 120
HA | 83 | 88 | 93 | 98 | 103 | 108 | 113 | 118 | 123 | 128 | 138 | 148 | 158 | 168 | 178
ZA_| 207 | 212 | 227 | 232 | 247 | 252 | 267 | 272 | 287 | 292 | 312 | 332 | 352 | 372 | 392
480 | BB | 108 [ 103 [ 13 | 113 [ 123 | 123 | 133 | 133 | 143 | 143 | 153 | 163 | 173 | 183 | 193
PP_| 37 | 37 | 47 | 47 | 57 | 57 | 67 | 67 | 77 | 77 | 87 | 97 | 107 | 117 | 127
HA | 87 | 92 | o7 | 102 | 107 | 112 | 117 | 122 | 127 | 132 | 142 | 152 | 162 | 172 | 182
Model MHCB-B / MHCB-Z-B
Tube I.D.
Stoke | 5 [ 10 [ 15 | 20 [ 25 [ 30 | 35 [ 40 | 45 | 50 | 60 | 70 [ 80 | 90 | 100
ZB | 178 | 183 | 198 | 203 | 218 | 223 | 238 | 243 | 258 | 263 | 283 | - - - -
632 | BB | 79[ 791 89| 89 | 99 | 99 [109 | 109 [ 119 | 119 [ 129 | - - - -
PP | 23 | 23| 33 | 33| 43 | 43 | 53 | 53 | 63 | 63 | 73 | - - - -
HB | 89 | 94 | 09 | 104 | 109 | 114 | 119 | 124 | 129 | 134 | 144 | - - - -
ZB_ | 188 | 193 | 208 | 213 | 228 | 233 | 248 | 253 | 268 | 273 | 293 | 313 | 333 | - -
440 | BB | 80 | 80 [ 90 |90 [ 100 | 100 | 10 | 410 [ 420 | 120 | 130 | 140 | 150 | - :
PP | 24 | 24 | 34 | 34 | 44 | 44 | 54 | 54 | 64 | 64 | 74 | 84 | 94 | - -
HB | 98 | 103 | 108 | 113 | 118 | 123 | 128 | 133 | 138 | 143 | 153 | 163 | 173 | - -
ZB | 196 | 201 | 216 | 221 | 236 | 241 | 256 | 261 | 276 | 281 | 301 | 321 | 341 | 361 | -
450 | BB | 8 | 8 [ 05 | 95 [ 105 | 105 | 115 | 115 | 125 | 125 | 135 | 145 | 155 | 165 | -
PP | 26 | 26| 36 | 36 | 46 | 46 | 56 | 56 | 66 | 66 | 76 | 86 | 96 | 106 | -
HB_ | 100 | 105 | 110 | 115 | 120 | 125 | 130 | 135 | 140 | 145 | 155 | 165 | 175 | 185 | -
ZB | 213 | 218 | 233 | 238 | 253 | 258 | 273 | 278 | 293 | 298 | 318 | 338 | 358 | 378 | 398
663 | BB | 92| 92 [ 102 [ 102 | 112 | 112 [ 122 | 122 [ 132 | 132 | 142 | 152 | 162 | 172 | 182
PP_| 30 | 30| 40 | 40 | 50 | 50 | 60 | 60 | 70 | 70 | 80 | 90 | 100 | 110 | 120
HB_ | 108 | 113 | 118 | 123 | 128 | 133 | 138 | 143 | 148 | 153 | 163 | 173 | 183 | 193 | 203
ZB | 232 | 237 | 252 | 257 | 272 | 277 | 292 | 297 | 312 | 317 | 337 | 357 | 377 | 397 | 417
480 | BB | 103 [ 103 [ 13 | 113 [ 123 | 123 | 133 | 133 | 143 | 143 | 153 | 163 | 173 | 183 | 193
PP_| 37 | 37 | 47 | 47 | 57 | 57 | 67 | 6r | 77 | 77 | 87 | 97 | 107 | 117 | 127
HB | 112 | 17 | 122 | 127 | 132 | 137 | 142 | 147 | 152 | 157 | 167 | 177 | 187 | 197 | 207
\eel ¢ e | D E F H J J K | KX | KY | M [ M | MA
$32] 10 7 | 20 62 | 47 | 65 | M12x175 | 15 | 65 | 24 8 | 11 | 46 | 46
$40] 10 7 | 25 70 | 52 | 9 M16x 2.0 20 | 9 32 | 11 | 14 | 55 | 54
$50 | 11 8 | 30 80 | 58 | 11 M20x 2.5 25 | 11 3 | 14 | 18 | 60 | 53
$63] 13 | 10 | 35 94 | 69 | 13 M27x 3.0 35 | 13 41 | 13 | 20 | 75 | 63
680 17 | 14 | 45 [ 114 | 8 | 15 M30x 3.5 35 | 15 50 | 10 | 22 | 90 | 70
Lo Mg | ME | MF | NA | NB o oL | PT | R | sW | Y
$32] 36 | 71 | 61 | 49 | 74 M16x 1.5 25 |PT14| 10 | 17 | 28
$40] 36 | 79 | 61 | 58 | 83 M22x 1.5 30 [PT1a| 10 | 22 | 28
$50| 37 | 78 | 62 | 59 | 84 M26x 1.5 35 |PT14| 10 | 27 | 295
$63| 39 | 8 | 64 | 65 | 90 M30x 1.5 40 [PT3/8] 10 | 32 | 31
$80] 43 | 95 | 68 | 65 | 90 M39x 1.5 45 _|PT3/8| 15 | 41 | 33




MHCQ-A Dimensions / Adjustable stroke ¢ 32~¢ 80

COMPACT HYDRAULIC CYLINDERS

(MHCQ-A)

Adjustable stroke 25 mm

|
| 2-PT

I
N

< Qe ’
A\ e\
1 [~
Y PP Y
4-¢Kthru MA
JXJH depth dMxH depth
MB
(1] LD L] L]
0 4\ 1 '_\
B Hhfe{@)e 3l K I s
5
Sw £ =
KL CL KA |KW KK stroke NA
C BB HA
ZA
MMHCQ-Z-A)
_
Adjustable stroke 25 mm 20, FF | FG
! ! 2-PT
Y g
O
328 HIe La ©
R o
O
) (e
|LJ| LJ|
KY Y PP Y
4-¢ K thru MA
dMxH depth
MB
(1] LD L] L]
M 1 '_\
8 %ﬁ of o Ii =
V&J)V © >
T NG -
SW £ >
KL CL KA KW KK stroke NA
OL |C BB HA
ZA

mindman



MHCQ-A Dimensions / Adjustable stroke ¢ 32~¢ 80

COMPACT HYDRAULIC CYLINDERS mindman
Model MHCQ-A/ MHCQ-Z-A
Tube 1.D.
Stroke 5 10 15 20 25 30 35 40 45 50
ZA 153 158 173 178 193 198 213 218 233 238
BB 79 79 89 89 99 99 109 109 119 119
632 FF 42 42 52 52 62 62 72 72 82 82
KK 39 39 49 49 59 59 69 69 79 79
PP 23 23 33 33 43 43 53 53 63 63
HA 64 69 74 79 84 89 94 99 104 109
ZA 163 168 183 188 203 208 223 228 243 248
BB 80 80 90 90 100 100 110 110 120 120
640 FF 42 42 52 52 62 62 72 72 82 82
KK 40 40 50 50 60 60 70 70 80 80
PP 24 24 34 34 44 44 54 54 64 64
HA 73 78 83 88 93 98 103 108 113 118
ZA 171 176 191 196 211 216 231 236 251 256
BB 85 85 95 95 105 105 115 115 125 125
650 FF 45 45 55 55 65 65 75 75 85 85
KK 42 42 52 52 62 62 72 72 82 82
PP 26 26 36 36 46 46 56 56 66 66
HA 75 80 85 90 95 100 105 110 115 120
ZA 188 193 208 213 228 233 248 253 268 273
BB 92 92 102 102 112 112 122 122 132 132
663 FF 52 52 62 62 72 72 82 82 92 92
KK 45 45 55 55 65 65 75 75 85 85
PP 30 30 40 40 50 50 60 60 70 70
HA 83 88 93 98 103 108 113 118 123 128
\% C CL D EA EB FA FG H J JH K KA KL KT KW
¢ 32 10 7 20 70 56 56 17 9 M12X1.75 15 9 28 63 8 12
¢ 40 10 7 25 80 64 62 18 11 M16 X 2.0 20 11 28 70 8 12
¢ 50 1" 8 30 94 74 74 20 13 M20 X 2.5 25 13 29 80 9 14
¢ 63 13 10 £9) 114 89 90 20 15 M27 X 3.0 89) 15 31 100 10 16
\% KX KY LH M Mi MA MB NA (0] oL PT R SwW U Y
¢ 32 24 8 25 14 45 46 36 49 M16 X 1.5 25 PT 1/4 10 17 4.5 28

40| 32 11 29 18 55 54 36 58 M22x 1.5 30 (PT1/4| 10 22 4.5 28
$50 | 35 14 34 20 60 53 37 59 M26 X 1.5 35 |PT1/4| 10 27 5 29.5
$63 [ 41 13 42 22 75 63 39 65 M30Xx1.5 40 |PT3/8| 10 32 5.5 31




MHCQ-B Dimensions / Adjustable stroke ¢ 32~¢ 80

COMPACT HYDRAULIC CYLINDERS mindman
“HCQ-B ’ 20, FF | FG
! ! 2-PT
Adjustable stroke 50 mm Ky K}
&
o ,“
N\ [\
|LJ| |LJ|
Y PP Y
4-¢$ K thru ME
JXJH depth ¢ M xH depth
MF
f>% L) L] L]
v o Q}X a + , i =
5
~ &
SW >
KL CL KA |[KW KK stroke NB
C BB HB
B
Adjustable stroke 50 mm
20,  FF | FG
| | 2-PT
O
55 3 EHE e “‘r@
o
N\ (e
|LJ| |LJ|
KY Y PP Y
4- o K thru ME
¢ M xH depth
MF
(1] L) L] L]
2 (f@\n af o i ] =
: N & °
SW v >
KL CL KA |[KW KK stroke NB
OL |C BB HB
ZB




MHCQ-B Dimensions / Adjustable stroke ¢ 32~¢80

COMPACT HYDRAULIC CYLINDERS mindman
Model MHCQ-B / MHCQ-Z-B
Tube 1.D.
Stroke 5 10 15 20 25 30 35 40 45 50
ZB 178 183 198 203 218 223 238 243 258 263
BB 79 79 89 89 99 99 109 109 119 119
632 FF 42 42 52 52 62 62 72 72 82 82
KK 39 39 49 49 59 59 69 69 79 79
PP 23 23 33 33 43 43 53 53 63 63
HB 89 94 99 104 109 114 119 124 129 134
ZB 188 193 208 213 228 233 248 253 268 273
BB 80 80 90 90 100 100 110 110 120 120
640 FF 42 42 52 52 62 62 72 72 82 82
KK 40 40 50 50 60 60 70 70 80 80
PP 24 24 34 34 44 44 54 54 64 64
HB 98 103 108 113 118 123 128 1553 138 143
ZB 196 201 216 221 236 241 256 261 276 281
BB 85 85 95 95 105 105 115 115 125 125
650 FF 45 45 55 55 65 65 75 75 85 85
KK 42 42 52 52 62 62 72 72 82 82
PP 26 26 36 36 46 46 56 56 66 66
HB 100 105 110 115 120 125 130 135 140 145
ZB 213 218 233 238 253 258 273 278 293 298
BB 92 92 102 102 112 112 122 122 132 132
663 FF 52 52 62 62 72 72 82 82 92 92
KK 45 45 55 55 65 65 75 75 85 85
PP 30 30 40 40 50 50 60 60 70 70
HB 108 113 118 123 128 133 138 143 148 153
\% C CL D EA EB FA FG H J JH K KA KL KT KW
¢ 32 10 7 20 70 56 56 17 9 M12X1.75 15 9 28 63 8 12
¢ 40 10 7 25 80 64 62 18 11 M16 X 2.0 20 11 28 70 8 12
¢ 50 1" 8 30 94 74 74 20 13 M20 X 2.5 25 13 29 80 9 14
¢ 63 13 10 £9) 114 89 90 20 15 M27 X 3.0 89) 15 31 100 10 16
\% KX KY LH M Mi ME MF NB (0] oL PT R SwW U Y
¢ 32 24 8 25 14 46 71 61 74 M16 X 1.5 25 PT 1/4 10 17 4.5 28

$40 | 32 10 29 18 55 7 61 83 M22x 1.5 30 (PT1/4| 10 22 4.5 28
50| 35 14 34 20 60 78 62 84 M26 X 1.5 35 |PT1/4| 10 27 5 29.5
$63 [ 41 13 42 22 75 88 64 90 M30Xx1.5 40 |PT3/8| 10 32 5.5 31




	1_Specification
	2_Standard stroke
	3_Inside structure
	4_Inside structure
	5_Cylinder weight
	6_MHCB_Dimensions
	7_MHCB_Dimensions
	8_MHCQ_Dimensions
	9_MHCB_Dimensions
	10_MHCQ-D_Dimensions
	11_MHCQ-D_Dimensions
	12_MHCB_Dimensions
	13_MHCB_Dimensions
	14_MHCQ-A_Dimensions
	15_MHCQ-A_Dimensions
	16_MHCQ-A_Dimensions
	17_MHCQ-B_Dimensions

